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Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation i a unitied
way. It means that the learner responds intellectually. emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill 1s a learned activity that one develops through practice and retlection. It 1s the
ability to perform a learned activity well and at will. Skill, as an ability to perform something. includes
proficiency. competence. and expertise in the activity. Skill refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tenmis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage. the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude 1s mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cognitive Dimension: Beliets and rationalizations which explains the holding of the attitudes

1. An Affective Dimension: Emotional aspects of attitudes. such as likes, dislikes. feeling of distaste, and

111. A Conative or Behavioural Dimension which involves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning 1s usually individual. but 1t can also be collectively generated in groups

S. Learning i1s treated both as a process and as an outcome learning is life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience. failure. success. and anything else.

Sub questions

Question Number : 1 Question Id : 68634018737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The synonyms of 'unitary' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:

l.Aand D

2. A.Band C
3.A . Band D

4. Aand D

Options :

68634074001. 1
68634074002. 2
68634074003. 3
68634074004. 4

Question Number : 2 Question Id : 68634018738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement II: Skill refers to learning psycho-motor behaviours in different activities.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074005. 1
68634074006. 2
68634074007. 3
68634074008. 4

Question Number : 3 Question Id : 68634018739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s not a dimension of attitude?

1. Beliefs and rationalization
2. Emotional aspects
3. Conative dimension
4. Active and passive dunension

Options :

68634074000. 1

68634074010. 2

68634074011. 3
68634074012. 4

Question Number : 4 Question Id : 68634018740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

If analysis: dissection. then synthesis:

A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:
1.Aand C
2.Aand D
3.Band C

4. Cand D

Options :

68634074013. 1
68634074014. 2
68634074015. 3
68634074016. 4

Question Number : 5 Question Id : 68634018741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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What 1s the true about learning?

A. It 1s active as well as passive.

B. Learning 1s always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:
1. Aand B
2.Aand C
3.Band C

4. A Band D

Options :

68634074017. 1
68634074018. 2
68634074019. 3
68634074020. 4

Question Id : 68634018736 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : (

Question Numbers : (1 to 5)
Question Label : Comprehension
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Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation i a unitied
way. It means that the learner responds intellectually. emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill 1s a learned activity that one develops through practice and retlection. It 1s the
ability to perform a learned activity well and at will. Skill, as an ability to perform something. includes
proficiency. competence. and expertise in the activity. Skill refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tenmis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage. the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude 1s mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cognitive Dimension: Beliets and rationalizations which explains the holding of the attitudes

1. An Affective Dimension: Emotional aspects of attitudes. such as likes, dislikes. feeling of distaste, and

111. A Conative or Behavioural Dimension which involves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning 1s usually individual. but 1t can also be collectively generated in groups

S. Learning i1s treated both as a process and as an outcome learning is life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience. failure. success. and anything else.

Sub questions

Question Number : 1 Question Id : 68634018737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The synonyms of 'unitary' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:

l.Aand D

2. A.Band C
3.A . Band D

4. Aand D

Options :

68634074001. 1
68634074002. 2
68634074003. 3
68634074004. 4

Question Number : 2 Question Id : 68634018738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement II: Skill refers to learning psycho-motor behaviours in different activities.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074005. 1
68634074006. 2
68634074007. 3
68634074008. 4

Question Number : 3 Question Id : 68634018739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s not a dimension of attitude?

1. Beliefs and rationalization
2. Emotional aspects
3. Conative dimension
4. Active and passive dunension

Options :

68634074000. 1

68634074010. 2

68634074011. 3
68634074012. 4

Question Number : 4 Question Id : 68634018740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

If analysis: dissection. then synthesis:

A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:
1.Aand C
2.Aand D
3.Band C

4. Cand D

Options :

68634074013. 1
68634074014. 2
68634074015. 3
68634074016. 4

Question Number : 5 Question Id : 68634018741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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What 1s the true about learning?
A. It 1s active as well as passive.
B. Learning 1s always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:
1. Aand B
2.Aand C
3.Band C

4. A Band D

Options :

68634074017. 1
68634074018. 2
68634074019. 3

68634074020. 4

Sub-Section Number : 2
Sub-Section Id : 686340621
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634018742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning of the foreign word: ultra vires
1. Beyond one's authority
2. Super virus
3. Excellent

4. Under consideration

Options :

68634074021. 1
68634074022. 2
68634074023. 3
68634074024. 4

Question Number : 6 Question Id : 68634018742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Select the appropriate meaning of the foreign word: ultra vires
1. Beyond one's authority
2. Super virus
3. Excellent

4. Under consideration

Options :

68634074021. 1
68634074022. 2
68634074023. 3
68634074024. 4

Question Number : 7 Question Id : 68634018743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' 1s:
1. Dislike
2. Audacious
3. Desolate

4. Alleviate

Options :

68634074025. 1
68634074026. 2
68634074027. 3
68634074028. 4

Question Number : 7 Question Id : 68634018743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' 1s:
1. Dislike
2. Audacious
3. Desolate

4. Alleviate

Options :
68634074025. 1
68634074026. 2
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68634074027. 3
68634074028. 4

Question Number : 8 Question Id : 68634018744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:

Just days before the Russian invasion Ukraine. Moscow's forces massing
the border. officials in the medieval town of Lutzen. Germany. atforded landmark status
a Sovietera world war II memorial standing outside a kindergarden in the town center.

1. mn. with. of. for
2. 1n, to. on. with
3. of. with. on. to
4. of. on. to. n

Options :

68634074029. 1
68634074030. 2
68634074031. 3
68634074032. 4

Question Number : 8 Question Id : 68634018744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:

Just days before the Russian invasion Ukraine. Moscow's forces massing
the border. officials in the medieval town of Lutzen. Germany. afforded landmark status
a Sovietera world war II memorial standing outside a kindergarden in the town center.

1. in. with. of. for

o

. 1. to. on. with
3. of. with. on. to
4. of. on. to. 1n

Options :

68634074029. 1
68634074030. 2
68634074031. 3
68634074032. 4

Question Number : 9 Question Id : 68634018745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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One word substitution for 'Connected with the brain' 1s:

1. Celestial

2. Cardiac
3. Cerebral

4. Carnival

Options :

68634074033. 1
68634074034. 2
68634074035. 3
68634074036. 4

Question Number : 9 Question Id : 68634018745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

One word substitution for 'Connected with the brain' 1s:

1. Celestial
2. Cardiac

3. Cerebral
4. Carmival

Options :

68634074033. 1
68634074034. 2
68634074035. 3
68634074036. 4

Question Number : 10 Question Id : 68634018746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit

1. expressed. than
2. surprised. about
3. grumbled. when

4. took. betore

Options :

she was not mvited by her friend to attend the party.
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68634074037. 1
68634074038. 2
68634074039. 3
68634074040. 4

Question Number : 10 Question Id : 68634018746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bat she was not invited by her friend to attend the party.

1. expressed. than
2. surprised. about
3. grumbled. when
4. took. betore

Options :

68634074037. 1
68634074038. 2
68634074039. 3
68634074040. 4

Question Number : 11 Question Id : 68634018747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work 1n half day 1s:

1. 940
2. 280
3. 560
4.412

Options :

68634074041. 1
68634074042. 2
68634074043. 3
68634074044. 4

Question Number : 11 Question Id : 68634018747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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3 boys and 5 girls can complete one work 1n 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day 1s:

1. 940

[
|
vl
(-

4.412

Options :

68634074041. 1
68634074042. 2
68634074043. 3
68634074044. 4

Question Number : 12 Question Id : 68634018748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

§ of 40% OfE of 156 = ?

3 39

1. 152.6

2.76.8
3.384

4. 54.63

Options :

68634074045. 1
68634074046. 2
68634074047. 3
68634074048. 4

Question Number : 12 Question Id : 68634018748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

§0f40‘ﬁ'6 ofE of 156 = ?
3 39

1. 152.6

2.76.8

3.384

4. 54.63
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Options :

68634074045. 1
68634074046. 2
68634074047. 3
68634074048. 4

Question Number : 13 Question Id : 68634018749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

- : i - .
The area of the circular round shown as 92 © m~ then value of r 1s:

1. 18 m

o

.22 m
3.22m
4. 22 m

Options :

68634074049. 1
68634074050. 2
68634074051. 3
68634074052. 4

Question Number : 13 Question Id : 68634018749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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- . g 3
The area of the circular round shown as 92 ©m m~ then value of r 1s:

Options :

68634074049. 1
68634074050. 2
68634074051. 3
68634074052. 4

Question Number : 14 Question Id : 68634018750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

108° —104° _ :
32° - 28°

1.3,

-
M|

o

9
\O|

-
.J.

g
oJ
N
]

4.3.6

rJ

Options :

68634074053. 1
68634074054. 2
68634074055. 3
68634074056. 4

Question Number : 14 Question Id : 68634018750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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108° —104° _

32% -28°
1.3.26
2.3.29
3.3.53
4.3-62

Options :

68634074053. 1
68634074054. 2
68634074055. 3
68634074056. 4

Question Number : 15 Question Id : 68634018751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 18:

1. 45

2.50

3. 75

4. 100

Options :

68634074057. 1
68634074058. 2
68634074059. 3
68634074060. 4

Question Number : 15 Question Id : 68634018751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 1S:

1. 45

2.50

4. 100

Options :
68634074057. 1
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68634074058
68634074059
68634074060

. 2
.3
.4

Question Number : 16 Question Id : 68634018752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Next number 1n the given series
27, 64, 125, 216, 343,

1.416

-

512
3. 686
4. 559

Options :

68634074061.
68634074062.
. 9
4

68634074063
68634074064

1
2

Question Number : 16 Question Id : 68634018752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Next number 1n the given series
27, 64, 125, 216. 343.

1. 416

Options :

68634074061
68634074062
68634074063

4
i 2
.3

68634074064. 4

Question Number : 17 Question Id : 68634018753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1
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Problem figure 1s embedded 1n which of the following alternatives?

Problem figure

S HA B X

Options :

68634074065. 1
68634074066. 2
68634074067. 3
68634074068. 4

Question Number : 17 Question Id : 68634018753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Problem figure 1s embedded in which of the following alternatives?

Problem figure

S HA B X

Options :

68634074065. 1
68634074066. 2
68634074067. 3
68634074068. 4

Question Number : 18 Question Id : 68634018754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

BLOCKED 1s related to YOLXPVW 1n the same way as OZFMXS 1s related to

1. LAUNCH

2. DEBAIE

3. RESULT

4. LABOUR

Options :

68634074069. 1
68634074070. 2
68634074071. 3
68634074072. 4
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Question Number : 18 Question Id : 68634018754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

BLOCKED 1s related to YOLXPVW 1n the same way as OZFMXS 1s related to
1. LAUNCH

2. DEBAIE

3. RESUI

4. LABOUR

Options :

68634074069. 1
68634074070. 2
68634074071. 3
68634074072. 4

L1

Question Number : 19 Question Id : 68634018755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Pointing towards a girl. Anand said "This girl 1s the daughter of a only child of my father". What 1s the relation

of Anand's witfe to that girl?

1. Daughter

2. Mother

3. Aunt
4. Sister

Options :

68634074073. 1
68634074074. 2
68634074075. 3
68634074076. 4

Question Number : 19 Question Id : 68634018755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1
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Pomnting towards a girl. Anand said "This girl 1s the daughter of a only child of my father". What is the relation
of Anand's wite to that girl?

1. Daughter
2. Mother
3. Aunt

4. Sister

Options :

68634074073. 1
68634074074. 2
68634074075. 3
68634074076. 4

Question Number : 20 Question Id : 68634018756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

In a jomnt family of seven persons A, B. C, D, E. F and G. how B 1s related to E?
Given that -

A. There are two married couples

B. G 1s a house wife and her husband 1n a lawyer

C. C 1s the wife of B. A 1s an engineer and grand daughter of G’

D. D 1s the father-in-law of C. a doctor and father of E. a professor

E. F 1s A's brother and B's son

Choose the correct answer from the options given below:
1. Sister

2. Uncle
3. Cousin

4. Brother

Options :

68634074077. 1
68634074078. 2
68634074079. 3
68634074080. 4

Question Number : 20 Question Id : 68634018756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In a jomt family of seven persons A. B. C, D. E. F and G. how B 1s related to E?
Given that -

A. There are two married couples

B. G 1s a house wife and her husband m a lawyer

C. C 1s the wife of B. A 1s an engineer and grand daughter of G

D. D 1s the father-in-law of C. a doctor and father of E. a professor

E. F 1s A's brother and B's son

Choose the correct answer from the options given below:
1. Sister

2. Uncle
3. Cousin

4. Brother

Options :

68634074077. 1
68634074078. 2
68634074079. 3
68634074080. 4

Question Number : 21 Question Id : 68634018757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The first Indian. who win the Noble Prize. 1s:
1. C.V. Raman
2. Amritaya Sen
3. Rabindra Nath Tagore

4. Chandershekhar Subramaniam

Options :

68634074081. 1
68634074082. 2
68634074083. 3
68634074084. 4

Question Number : 21 Question Id : 68634018757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The first Indian. who win the Noble Prize. i1s:
1. C.V. Raman
2. Amritaya Sen
3. Rabindra Nath Tagore

4. Chandershekhar Subramaniam

Options :

68634074081. 1
68634074082. 2
68634074083. 3
68634074084. 4

Question Number : 22 Question Id : 68634018758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Identify the founding members of OPEC m 1960.

A. Qatar

B. Iran

C. Iraq

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:
1.B.C.D.E and F only
2.A.B.C.Dand E only
3.A.B.D.E and F only

4. A.C.D.E and F only

Options :

68634074085. 1
68634074086. 2
68634074087. 3
68634074088. 4

Question Number : 22 Question Id : 68634018758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Identify the founding members of OPEC 1 1960.

A. Qatar
B. Iran

C. Iraq

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:

1.B.C.D.E and F only
2.A.B.C.Dand E only
3.A.B.D.E and F only

4. A.C.D.E and F only

Options :

68634074085. 1
68634074086. 2
68634074087. 3
68634074088. 4

Question Number : 23 Question Id : 68634018759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the largest Upanishad?
1. Brihadara nyaba
2. Chadogya
3. Aitareya

4. Katho

Options :

68634074089. 1
68634074090. 2
68634074091. 3
68634074092. 4

Question Number : 23 Question Id : 68634018759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which 1s the largest Upanishad?
1. Brihadara nyaba
2. Chadogya
3. Aitareya

4. Katho

Options :

68634074089. 1
68634074090. 2
68634074091. 3
68634074092. 4

Question Number : 24 Question Id : 68634018760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Arbitration 1s defined as:
1. the settlement of labour disputes that takes place between employer and the employees
2. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid

4. the indicator of self sufficiency of a country

Options :

68634074093. 1
68634074094. 2
68634074095. 3
68634074096. 4

Question Number : 24 Question Id : 68634018760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Arbitration 1s defined as:
1. the settlement of labour disputes that takes place between employer and the employees
2. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4. the indicator of self sufficiency of a country
Options :

68634074093. 1
68634074094. 2
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68634074095. 3
68634074096. 4

Question Number : 25 Question Id : 68634018761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Year 2023 1s celebrated as International Year of.

1. Plant Health
2. Millets
3. Save Earth
4. Sustamable Development

Options :

68634074097. 1

68634074098. 2

68634074099. 3
68634074100. 4

Question Number : 25 Question Id : 68634018761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Year 2023 1s celebrated as International Year of.

1. Plant Health
2. Millets
3. Save Earth
4. Sustamable Development

Options :

68634074097. 1

68634074098. 2

68634074099. 3
68634074100. 4

Part B: Philosophy

Section Id : 686340372
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 73

Section Marks : 300

Fnahle Mark ac Anewerad Marlk far Review and ('lear Reennnees * VYec
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Maximum Instruction Time : 0

Sub-Section Number : ]
Sub-Section Id : 686340622
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634018762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The main propounder of Samkhya Philosophy 1s
1. Gautam
2. Kapila
3. Gangesh

4. Kanad

Options :

68634074101. 1
68634074102. 2
68634074103. 3
68634074104. 4

Question Number : 26 Question Id : 68634018762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
e g & T3] Uidues o
1. ]ilfim

2. HIUd

ey

L
el

4. HUS

Options :

68634074101. 1
68634074102. 2
68634074103. 3
68634074104. 4

Question Number : 27 Question Id : 68634018763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which symbol represents particular negative proposition according to traditional division of proposition?

1.0

4.1

Options :

68634074105. 1
68634074106. 2
68634074107. 3
68634074108. 4

Question Number : 27 Question Id : 68634018763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

HfaSa & WP faueH & ER FHafefad 3 9 o 1 udie sivemdl (fagy) Feureas ufagia
P T Pl 87

1.0

2 P

3.A

4.1
Options :
68634074105. 1
68634074106. 2

68634074107. 3
68634074108. 4

Question Number : 28 Question Id : 68634018764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following is not associated with Gandhi?
1. Satyagraha
2. Ahimsa
3. Bhoodan
4. Swaraj

Options :
686340741009. 1
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68634074110. 2
68634074111. 3
68634074112. 4

Question Number : 28 Question Id : 68634018764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

fFrafafad § 9 o= 91 71 @ Ja9g 781 8

1. dcdiie

4. Xdx]v

Options :

68634074109. 1
68634074110. 2
68634074111. 3
68634074112. 4

Question Number : 29 Question Id : 68634018765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which philosopher in his discourse on the origin of inequality. drew an important distinction between the two
types of mnequalities found in social life: Natural and Conventional

1. Locke

2. Rousseau
3. Mull

4. Sartre

Options :

68634074113. 1
68634074114. 2
68634074115. 3
68634074116. 4

Question Number : 29 Question Id : 68634018765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fFafafad & @ feog el 3 s/mmmar @1 Saft et o faast &, gmifse s J gl o arefl
FHHAIA gYI-A9iie 3R Fi¢id. & &d Hgwayul He ¥@ifdd fbar U

1. dlPp
2. =i
3. 109
4. O
Options :
68634074113, 1
68634074114. 2

68634074115. 3
68634074116. 4

Question Number : 30 Question Id : 68634018766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Nirvana 1s the ultimate culmination of life according to
1. Jamism
2. Buddhism
3. Sikhism
4. Hinduism

Options :

68634074117. 1
68634074118. 2
68634074119. 3
68634074120. 4

Question Number : 30 Question Id : 68634018766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fafeiad 4 O feoged SR Falu Siad &1 iRy a1 8?

1. 99 Hd

2. §IG |4

3. F9@ T4

4.l Hd

-

T —

collegedunia:

India’s largest Student Review Platform



Options :

68634074117. 1
68634074118. 2
68634074119. 3
68634074120. 4

Question Number : 31 Question Id : 68634018767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a Vedic Text?
1. Upamisad
2. VinayPitak
3. Brahmana

4. Vedanta

Options :

68634074121. 1
68634074122. 2
68634074123. 3
68634074124. 4

Question Number : 31 Question Id : 68634018767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

frafafag § 9 o1 91 3fee dy T8 &2
1. 3URYE

4. dgid

Options :

68634074121. 1
68634074122. 2
68634074123. 3
68634074124. 4

Question Number : 32 Question Id : 68634018768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1
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Who amongst the following 1s not a phenomenologist?

1. Schultz
2. Heidegger
3. Husserl
4. Wittgenstein

Options :

68634074125. 1

68634074126. 2

68634074127. 3
68634074128. 4

Question Number : 32 Question Id : 68634018768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Frafafad & @ o dofueme 78 82
1. Y[ecl
2.89TR
3. 59
IR CRIEHES

Options :

68634074125. 1
68634074126. 2
68634074127. 3
68634074128. 4

Question Number : 33 Question Id : 68634018769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which among the following does not belong to Empiricism?
1. John Locke
2. Spmoza
3. Berkeley

4. David Hume

Options :
68634074129. 1
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68634074130. 2
68634074131. 3
68634074132. 4

Question Number : 33 Question Id : 68634018769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fafefad 3 9 ®F sFydde 3 Jafdd 981 82
1. Sl |l

2. FaETSn

3. h¢

4. S1dS BgH

Options :

68634074129. 1
68634074130. 2
68634074131. 3
68634074132. 4

Question Number : 34 Question Id : 68634018770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The law that asserts that 'if any statement 1s true then 1t 1s true' 1s

1. Law of noncontradiction
2. Law of excluded middle
3. Law of identity
4. Law of gravity

Options :

68634074133. 1

68634074134. 2

68634074135. 3
68634074136. 4

Question Number : 34 Question Id : 68634018770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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ge Fga W g @I Fdl ¢ [ Ofe BIs pYT I SIaT e dl I8 YU Bidl &' 98 ©:
1. 3fogmTdl (HgH
2. HEATd (HEHE) HaH
3. drered (HaH

4. = (FgH

Options :

68634074133. 1
68634074134. 2
68634074135. 3
68634074136. 4

Question Number : 35 Question Id : 68634018771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Some humans are mortal' 1s

1. Universal affirmative

2. Universal negative

3. Particular affirmative
4. Particular negative

Options :

68634074137. 1
68634074138. 2
68634074139. 3
68634074140. 4

Question Number : 35 Question Id : 68634018771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

DS T AR © U8 Y o
1. guicardt HTaTce
2. quieardl YT
3. 3{RTTUl HIdTHD
4. 3=rTdt YIS

Options :
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68634074137. 1
68634074138. 2
68634074139. 3
68634074140. 4

Question Number : 36 Question Id : 68634018772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Who propounded Dialectical Materialism?

1. Karl Marx
2. Plato

3. Locke

4. Descartes

Options :

68634074141. 1
68634074142. 2
68634074143. 3
68634074144. 4

Question Number : 36 Question Id : 68634018772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Sald® Hifddalg & Uldue® $iH o2

1. BT 91ad
2. Wicl

w/

3. il
4. 333|é

Options :

68634074141. 1
68634074142. 2
68634074143. 3
68634074144. 4

Question Number : 37 Question Id : 68634018773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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A form of organization i which a small groups of the chosen few (based on wealth and land ownership)
makes all decisions. largely in its own interest. This group 1s called

1. Monarchy

2. Oligarchy

3. Anarchy

4. Aristocracy
Options :
68634074145. 1
68634074146. 2

68634074147. 3
68634074148. 4

Question Number : 37 Question Id : 68634018773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

1134 D1 U =4 fos $© 9 g0 arl. Jea: 39+ fgd d. 9 Aolg &d 1 78 998 Sedrdl 6:

1. 3Mold4

2. DA

3. RSP dA

4. HYSITddA

Options :

68634074145. 1
68634074146. 2
68634074147. 3
68634074148. 4

Question Number : 38 Question Id : 68634018774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

The 1deals which are associated with French Revolution are

1. Liberty. Equality. Fraternity

2. Justice. Equality. Socialism
3. Justice. Friendship. Brotherhood
4. Peace. Non violence, Truth

Options :
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68634074149. 1
68634074150. 2
68634074151. 3
68634074152. 4

Question Number : 38 Question Id : 68634018774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
HTRITR shifd & e e B I 82

1. IqqAdl, YA, 9YQ

2. 1. 9rgdl. 9H161dIg
3. g, AT, Yiga
4. Q1T 3ffedr. 9

Options :

68634074149. 1
68634074150. 2
68634074151. 3
68634074152. 4

Question Number : 39 Question Id : 68634018775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Utilitarianism can be associated with

1. 'The greatest happiness of the greatest number’

2. 'The greatest success of the greatest number’
3. "Peace for all'
4. "Liberty tor all’

Options :

68634074153. 1

68634074154. 2

68634074155. 3
68634074156. 4

Question Number : 39 Question Id : 68634018775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Sugifiiarare FAfafkifad 3 9a< 81 9adi @

1. '3HIHdH AT BT HfUday &
YR TH A D YD TH JH AT
3. gl & forg wifa

4. gHI & oT¢ WaAar

b

Options :

68634074153. 1
68634074154. 2
68634074155. 3
68634074156. 4

Question Number : 40 Question Id : 68634018776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
'Justice 1s the first virtue of a good society’ 1s said by
1. Wittgenstemn
2. John Rawls

3. Hume

4. Thales

Options :

68634074157. 1
68634074158. 2
68634074159. 3
68634074160. 4

Question Number : 40 Question Id : 68634018776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

1Y 3w YU T Ya9yH He[Ul 5. I8 HyA Hafafad 4 9 fega g2

1. f[aci<erg=
2. S A

3. _qH
4. 97

Options :
68634074157 1
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68634074158. 2
68634074159. 3
68634074160. 4

Question Number : 41 Question Id : 68634018777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
'Euthanasia’ means
1. Death by choice
2. Death by State
3. Death by hunger
4. Death by disease
Options :
68634074161. 1
68634074162. 2

68634074163. 3
68634074164. 4

Question Number : 41 Question Id : 68634018777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

T (YU &1 U ©:

1. 909 gRT 5

2. T gRT Y

3. HE gRT I
4. MM ERTHY

Options :

68634074161. 1
68634074162. 2
68634074163. 3
68634074164. 4

Question Number : 42 Question Id : 68634018778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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"Where the mind 1s without fear and the head is held high. where knowledge 1s free where the world has not
been broken up into fragments” 1s written by

1. Amartya Sen

2. Mahashweta Devi

3. Arundhati Roy
4. Rabindra Nath Tagore

Options :

68634074165. 1
68634074166. 2
68634074167. 3
68634074168. 4

Question Number : 42 Question Id : 68634018778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

it 7 F3afa i § qur e = g 8. o6t I FRled e §. Siel fay Gt (ewsh)  favaa i
gl.." T8 fbud gr fora man g

1. 3Hd 99
2. Hg14dI <dl
3. SYUMA T

4. JSSATY TR

Options :

68634074165. 1
68634074166. 2
68634074167. 3
68634074168. 4

Question Number : 43 Question Id : 68634018779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The notion of Jiva in Jainism corresponds with
1. Living being
2. Atman or Purusha
3. Animal being

4. Human being
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Options :

68634074169. 1
68634074170. 2
68634074171. 3
68634074172. 4

Question Number : 43 Question Id : 68634018779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

oI Hd ¥ oifd ®1 YR (FdHeq-n) &1 Fgfofaad 3 9 foud gy gewg g2

1. goilg

2. AIHI Y]

3. 0%
4. 94

Options :

68634074169. 1
68634074170. 2
68634074171. 3
68634074172. 4

=Y

Question Number : 44 Question Id : 68634018780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

According to Locke. an object has

1. Primary and Secondary qualities

3. Utility and Feasability

4. Perception and reality

Options :

68634074173. 1
68634074174. 2
68634074175. 3
68634074176. 4

2. Spirit and form

Question Number : 44 Question Id : 68634018780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1
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Al & IUR fordt aeg & urdt ot &
1. U Uq fgdiad 1o
2. ATHI TG &Y
3. SUGIFTT Ud Sgagrid]

4. U8 Ug guiy

Options :

68634074173. 1
68634074174. 2
68634074175. 3
68634074176. 4

Question Number : 45 Question Id : 68634018781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The author of Nicomachean Ethics 1s
1. Anistotle
2. Paul Ricoeur
3. Kant

4. Hume

Options :

68634074177. 1
68634074178. 2
68634074179. 3
68634074180. 4

Question Number : 45 Question Id : 68634018781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Famiea vfdey & d@® o1 o2

1. 3RE]
2. gid NahaR
3. Plc

1 &g

Options :
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68634074177. 1
68634074178. 2
68634074179. 3
68634074180. 4

Question Number : 46 Question Id : 68634018782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Anckantavada or the doctrine of manyness of reality 1s associated with

1. Buddhism
2. Jamism
3. Sikhism
4. Nyaya

Options :

68634074181. 1

68634074182. 2

68634074183. 3
68634074184. 4

Question Number : 46 Question Id : 68634018782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Ppidare a1 gyl ot 3wl &1 Rigid fFgfefea o 9 foud da9g o2

1. §1< A4

RS CR:

3. 99 94

4. 41g

Options :

68634074181. 1
68634074182. 2
68634074183. 3
68634074184. 4

Question Number : 47 Question Id : 68634018783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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According to which Indian School. perception (Pratyaksa) 1s the only means of valid knowledge
1. Jamism
2. Buddhism

3. Charvaka
4. Nyaya

Options :

68634074185. 1
68634074186. 2
68634074187. 3
68634074188. 4

Question Number : 47 Question Id : 68634018783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

FafeiRad 4 9 foyg YRdlg 9d & SR Udé 81 a4 I &1 U O Y- 82
1. O Hd

2. 91 Od

3. d1aiP

4. 49y

Options :

68634074185. 1
68634074186. 2
68634074187. 3
68634074188. 4

Question Number : 48 Question Id : 68634018784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Aprior1 knowledge 1s
1. Gamned before experience
2. Gained after experience
3. Hereditary

4. Evolves with reason

Options :
68634074189. 1
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68634074190. 2
68634074191. 3
68634074192. 4

Question Number : 48 Question Id : 68634018784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

AT U 11 B

1. 3Hd Jd U I

2. 3FHT 9YTd UTd I

3. ORITA B

4. d% & 91y fopfd giar g

Options :

68634074189. 1
68634074190. 2
68634074191. 3
68634074192. 4

arg

Question Number : 49 Question Id : 68634018785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a valid method of knowledge according to Nyaya philosophy

1. Anumana

2. Upamana

3. Anuplabdhi

4. Pratyaksha

Options :

68634074193. 1
68634074194. 2
68634074195. 3
68634074196. 4

Question Number : 49 Question Id : 68634018785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1
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T X & IR 9 P oy fofd Fofafea 3 o @ =i 30

1. A

2. O4HIA

3. Ucis
4. G

Options :

68634074193. 1
68634074194. 2
68634074195. 3
68634074196. 4

Question Number : 50 Question Id : 68634018786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

In the metaphysics of Purva Mimamsa 'consciousness'

1. 1s the essence of the soul

2. 1s excluded trom the essence of the soul
3. 15 1ll-defined

4. 1s not the essence of the soul

Options :
68634074197. 1
68634074198. 2

68634074199. 3
68634074200. 4

Question Number : 50 Question Id : 68634018786 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
o s &8 o st F A
. T ST IR &
2. HTHT & IR 3uafofd 8
3. guikHifda T8 @

4. ATHATHTIR ol &

Options :
68634074197. 1
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68634074198. 2
68634074199. 3
68634074200. 4

Question Number : 51 Question Id : 68634018787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

"Do 1t because 1t 1s your Duty to do 1t". This statement can be attributed to which of the following thinkers?

1. Spinoza

-

. Hegel

S

3. Immanuel Kant

4.1.S. Mill

Options :

68634074201. 1
68634074202. 2
68634074203. 3
68634074204. 4

Question Number : 51 Question Id : 68634018787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

=Y T i U BT IS Fadd o 59 HY- 31 99 Fufaiad Hasi § 3 fea amare.
1. AT

3. PIc

4. 91,09 f0d

Options :

68634074201. 1
68634074202. 2
68634074203. 3
68634074204. 4

Question Number : 52 Question Id : 68634018788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which among the following is not referred as Purushartha?
1. Dharma
2. Arth

3. Kama

4. Lobha

Options :

68634074205. 1
68634074206. 2
68634074207. 3
68634074208. 4

Question Number : 52 Question Id : 68634018788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fafefad I 4 fed g=wd Ser o1 82
1.4

2. Y

3. PH

4. Y

Options :

68634074205. 1
68634074206. 2
68634074207. 3
68634074208. 4

Question Number : 53 Question Id : 68634018789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a part of the teachings of Gita?
1. Karma Yoga
2. Bhakt:1 Yoga
3. Jnana Yoga
4. Raj Yoga

Options :
68634074209. 1
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68634074210. 2
68634074211. 3
68634074212. 4

Question Number : 53 Question Id : 68634018789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

ftar & Iy | Fefafed d 9 o 9o g2
1. PHGMT
2. Yigd g

3.3 4N

4. Iuad gt

Options :

68634074209. 1
68634074210. 2
68634074211. 3
68634074212. 4

Question Number : 54 Question Id : 68634018790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
The book Utilitarianism was written by?
1. Immanuel Kant
2. James Mill

3. Jeremy Bentham

4. John Stuart Mill

Options :

68634074213. 1
68634074214. 2
68634074215. 3
68634074216. 4

Question Number : 54 Question Id : 68634018790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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EARICRUFTT qide &1 d@A [y far ur
1. SHMUT BIe
2. O [
3. SIRH gH
4. S ¥34¢ e

Options :

68634074213. 1
68634074214. 2
68634074215. 3
68634074216. 4

Question Number : 55 Question Id : 68634018791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

A method of identifying a causal of an effect by isolating that portion of the effect not explained by known
caused relationship 1s known as

1. Method of concomitant variations

2. Method of Difterence
3. Method of Agreement

4. Method of Residues

Options :

68634074217. 1
68634074218. 2
68634074219. 3
68634074220. 4

Question Number : 55 Question Id : 68634018791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

JTd PRUTHSD Y gRT IRHINT 7 B drel IH YT & JYTHIUT gRT fhdl YHTd & DRUI & UgdH Dl
fafe Seardl e:

1. ggulkad- fafy
- aafara fafd

3. 39y faly
4, a9y faiy

-
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Options :

68634074217. 1
68634074218. 2
68634074219. 3
68634074220. 4

Question Number : 56 Question Id : 68634018792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which among the following statements is true of the Nisista-Advaita philosophy?
1. Brahman and Iiva are 1dentical

2. Brahman and Jiva are opposed to one another

3. Brahman and Jiva are not 1dentical, but the latter 1s the product of the playfulness of maya of the former

4. J1va 1s the material product of the Brahman

Options :

68634074221. 1
68634074222. 2
68634074223. 3
68634074224. 4

Question Number : 56 Question Id : 68634018792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafRry- srgd axH & day § Fafifed & 3 o I py= 9d 82
1. SITETUT 3R oiig 3t §
2. SITEIUT 3R Sid Ueh g8k & faukia §
3. STRIUT 3R Siig SHF 781 § fab= TRadl SuRadi b1 5l & Wd B 3US o
4. 519 SITRIVT BT HifdP 1S &

Options :

68634074221. 1
68634074222. 2
68634074223. 3
68634074224. 4

Question Number : 57 Question Id : 68634018793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Poona Pact was an accord between

1. Gandhi and Ambedkar
2. Nehru and Patel

3. Gandhi and Nehru

4. Gandhi and Jinnah

Options :

68634074225. 1
68634074226. 2
68634074227. 3
68634074228. 4

Question Number : 57 Question Id : 68634018793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

g1 gaiar Aafafad O 9 fead ae g ur
1. T SR SfaSdR
2. 98E AR UCH
3.7} 3R AgE
4. Tt 3R S

Options :

68634074225. 1
68634074226. 2
68634074227. 3
68634074228. 4

Question Number : 58 Question Id : 68634018794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Tagore got Noble Prize for his celebrated work
1. Gora
2. Anand Math

3. Geetanjali

4. Godan

Options :
68634074229. 1
GRAGIL0TA42300 2
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68634074231. 3
68634074232. 4

Question Number : 58 Question Id : 68634018794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

TR B 39 by Ui gxad (i) & ot e REBR Fa ur
1. TTRT

2. A HS
<
4. e

Options :

68634074229. 1
68634074230. 2
68634074231. 3
68634074232. 4

Question Number : 59 Question Id : 68634018795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the categorical syllogism. the premise in which the major term appears 1s called
1. Minor premise
2. Major premise
3. Syllogism
4. Distribution

Options :

68634074233. 1
68634074234. 2
68634074235. 3
68634074236. 4

Question Number : 59 Question Id : 68634018795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Feufde argare 4, YR are forad geaue I9fyd g1l 8. 98 dedldl o
1. 3 YR aT

2. GBI YR 1

3. Gigdi]

4. TAHTSH

Options :

68634074233 1
68634074234. 2
68634074235. 3

68634074236. 4

Question Number : 60 Question Id : 68634018796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Abortion 1s a problem of

1. Work Ethics
2. Bio Ethics
3. Management Ethics

4. Professional Ethics

Options :

68634074237. 1
68634074238. 2
68634074239. 3
68634074240. 4

Question Number : 60 Question Id : 68634018796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
murd FHafeied 4 9 fegst gawn g2
1. B Afdddl
2. 91 Afdsar
3. yaY Afdsar
4. TGS Afded

Options :
68634074237. 1
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68634074238. 2
68634074239. 3
68634074240. 4

Question Number : 61 Question Id : 68634018797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
According to Arnistotle. 'bemng-qua-being' 1s

1. Possibility of being

2. Science of being
3. Impossibility of being
4. Reality of perception

Options :

68634074241. 1

68634074242. 2

68634074243. 3
68634074244. 4

Question Number : 61 Question Id : 68634018797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
IR P AR, S5 B AT 6:
1. &I DI YT
2. HRId B fagH

3. I Dl HGHA

4. Y& BT Uy

Options :

68634074241. 1
68634074242. 2
68634074243. 3
68634074244. 4

Question Number : 62 Question Id : 68634018798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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The only Materialistic School of Indian Philosophy 1s
1. Jamism
2. Nyaya
3. Samkhya

4. Charvaka

Options :

68634074245. 1
68634074246. 2
68634074247. 3
68634074248. 4

Question Number : 62 Question Id : 68634018798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

YRAH 231 &1 tehaE HifdedarK! Ius g:

1. 9904

4. g1aid

Options :

68634074245. 1
68634074246. 2
68634074247. 3
68634074248. 4

Question Number : 63 Question Id : 68634018799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Republic 1s written by
1. Plato
2. Arnistotle
3. Socrates

4. Hegel

Options :
68634074249. 1
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68634074250. 2
68634074251. 3
68634074252. 4

Question Number : 63 Question Id : 68634018799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Rufsd® & 7@ 7
1. @iel

2. IRE]
3. g

4. BRTA

Options :

68634074249. 1
68634074250. 2
68634074251. 3
68634074252. 4

Question Number : 64 Question Id : 68634018800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"If the two or more instances of the phenomenon under investigation have only the circumstance 1s common.
the circumstance 1n which alone all the instances agree. 1s the cause(or effect) of the given phenomenon”.
Which one of the following method 1s involved?

1. The method of Agreement
2. The method of Difference

3. The joint method of Agreement and Difference

4. The method of Residue

Options :

68634074253. 1
68634074254. 2
68634074255. 3
68634074256. 4

Question Number : 64 Question Id : 68634018800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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gfe gdteror & 3iefiq feddt uftae=n & <1 a1 34fie Tvidi & Sad <3 81 99 ©. <X $ad foras gt
T¥id YgHd Bid ©. Ued URYe-T &1 SRUI (1 UHI9) " Fafefad § @ o= It fafd e g

1. 3=q9 fafe

iy fafy
3. 399 Ud Ald® Pl Ggad faid
4. 39y fate

Options :

68634074253. 1
68634074254. 2
68634074255. 3
68634074256. 4

(-

Question Number : 65 Question Id : 68634018801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Moving from particular to general 1s:
1. Deductive reasoning
2. Absurd reasoning
3. Inductive reasoning
4. Logical falling
Options :
68634074257. 1
68634074258. 2

68634074259. 3
68634074260. 4

Question Number : 65 Question Id : 68634018801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faey T 9= & 3R S9d- -
1. TS aan
2. 3T gD N
3. MTHATHS dh U

4. Alfb® ddbaly
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Options :

68634074257. 1
68634074258. 2
68634074259. 3
68634074260. 4

Question Number : 66 Question Id : 68634018802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R

Assertion A: The principle of Induction is the process of arriving at universal propositions from particular facts
of experience.

Reason R: Particular facts of experience 1s impossible.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634074261. 1
68634074262. 2
68634074263. 3
68634074264. 4

Question Number : 66 Question Id : 68634018802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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EIE a;t HY fAU U 8. TP HUHY (Assertion A) P ¥4 H fAfGd 8 dl GIRI 3P BRI (Reason R) B
=Y H:

ATUSYT A: 3T &1 Rgia srya & fafkwy aui gr1 mya wfasferdl R ugan &1 ufsar g1
®RT R: 4 & ARy 9 3RYT §1d &
SWRIad Y P HdlP H, A [T U f[dh el & I a4 Iugad IR D1 94 BIfOIT:

1. A SRR G 9ol § R R. A DI ol AR §

2. A IR R S T8 € 3R R. A B Gel R 78l &

3. A9l S AP R TSI TR &

4. Agl Tol s WP R TJol o

Options :
68634074261. 1
68634074262. 2

68634074263. 3
68634074264. 4

Question Number : 67 Question Id : 68634018803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R

Assertion A: Philosophy is a critical enquiry into the nature of reality.

Reason R: Philosophy 1s also seen as an intuitive exercise.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A
3. A1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634074265. 1
68634074266. 2
68634074267. 3
68634074268. 4
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Question Number : 67 Question Id : 68634018803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

44 & Py QU U 8. U ATUDHYT (Assertion A) P FU T foifdd 8 d TERT 3P BRI (Reason R) &
U -

AfUBYT A: 2% 91Ul & WY H Sdra—Tdd URy=s 6

BRI R: 32 U@ Wfafd B

SWIFd HY P @D &, A QU MU fadbedl d I 969 Iugad IR H1 94 BHIfOIT:
1. A SR R GHI T8l & IR R. A DI Jol URAT 8

2. AR R 981 & 3R R A P U8 o4& e &

LATSIE AP R IS R ©

4. Aol "ol g AP-TR Tol

Options :

68634074265. 1
68634074266. 2
68634074267. 3
68634074268. 4

Question Number : 68 Question Id : 68634018804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-

T —

collegedunia:

India’s largest Student Review Platform



Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R

Assertion A: Truth 1s a value

Reason R: Axiology 1s defined as the science of value

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation ot A

2. Both A and R are true and R 1s NOT the correct explanation ot A

3. A 1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634074269. 1
68634074270. 2
68634074271. 3
68634074272. 4

Question Number : 68 Question Id : 68634018804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

EIE) a$?-l:fﬁq Tlt{% U AHHBYA (Assertion A) 7 {ﬁqﬁﬁ*]@ﬁ%?ﬁmGHE}? ®IRU] (Reason R) 67
U H.

AfUBYT A: II TP o4 o |

PRI R: Td-HIH9 1 7 & fagH & =9 § gRyifNd foar Srdr g

SWRIad DY & ATl H, 714 13U 7T f[abedi § I a8 Iugad IR D1 94 DIfoig:
1. A 3R R i 9ol & IR R. A DI Ugl ARAT§

2. A 3R R 31 U1 € 3R R. A BT Tel oURAT el &

3. AGel ¢ AfeT R IS 8T &

4. ARSI T8I g AP-TR Tl ©

Options :
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68634074269. 1
68634074270. 2
68634074271. 3
68634074272. 4

Question Number : 69 Question Id : 68634018805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R
Assertion A: Pleasure 1s the only thing that 1s desirable.
Reason R: The only proof that a thing 1s desirable 1s the fact that people do actually seek pleasure.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634074273. 1
68634074274. 2
68634074275. 3
68634074276. 4

Question Number : 69 Question Id : 68634018805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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EIE a;r HY fAU T 8. U SHUDHYF (Assertion A) B FU H ffGd 8 Tl IR 3D HRUI (Reason R) &
U d.

AFUFYT A: TG THHH G510 a5 ¢
PRI R: fbdl a3 & aia-11g 8- &1 UHHE YHIU U8 92 § fdb dF aRdd & Y§ 918d o |
SWIFd YA P 3Tl H, H1d 3T MU f[dh el # ¥ 969 Iugad IR D1 99 DIl

1. A R R &I T8l 8 AR R. A DI Jol AR ©

2. A IR R S T8 € 3R R. A B Gel R 78l &
3.AGSI S AfP IR T TS ®

4. Agl Tol s WP R TJol o

Options :

68634074273. 1
68634074274. 2
68634074275. 3
68634074276. 4

Question Number : 70 Question Id : 68634018806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R

Assertion A: Rationalism holds that genuine knowledge cannot come from sense perception or experience.

Reason R: Empiricism 1s a system of thought which believes that there are no inborn truths and all knowledge
springs from sense perception or experience.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634074277. 1
68634074278. 2
68634074279. 3
68634074280. 4

Question Number : 70 Question Id : 68634018806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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EIE ;cgr By fU T B, U UDHYT (Assertion A) P ¥4 T fifGd 8 dl TERI IHD HRUI (Reason R) B
=Y H:

YUY A: Thglaare $1 98 Ad & & auUrd JH Sfag TI&01 g1 YT I 81 31 9Hdl o

PRI R: 3HTAIE faR] &1 98 9Sfd ¢ foraed1 0d & i #1 ft Wa:3gyd I T8l giar g | 3k a3t
T Sgfar S Teer ar 3FHE ¥ Igyd Bidt 8

SWRIFd BY P ATl H, A 3T T f[dh el # I a8 I9gdd IR D1 99 DIIT:
1. A 3R R &I 981 § SRR, A P! ol URAT ©

2. A IR R T 981 § 3R R. A P Ug! 41 8l o

3. A9l S AP R TSI AT &

4. A9 ol g AiPAR TGl ©

Options :
68634074277. 1
68634074278. 2

68634074279. 3
68634074280. 4

Question Number : 71 Question Id : 68634018807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R

Assertion A: Necessity 1s mother of invention

Reason R: Invention are necessary for survival of human kind

In the light of the above statements. Choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A 1s false but R 1s true
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Options :

68634074281. 1
68634074282. 2
68634074283. 3
68634074284. 4

Question Number : 71 Question Id : 68634018807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-9 gl $Y= AU T &, U MUY (Assertion A) B ¥9 H fAf&d 8 dl TERT 3UD HRUI (Reason R) &
U H.

IfUBYT A: ATWHT AfTHR B T 6
PR R: ATHR AFGHId DI IJAoiiadl & el ATaaF sid o |
SWRIFd PYF & 3ATip H, 714 13U T f[adbedl # ¥ g6 IUGdd IR DI 99 DIoU:

1. A 3R R &I Tg1 & 3R R. A I Yg! RS &

2. A 3R R GFI 9ol § IR R. A DI Tl oIRAT ol &
3. AGSI s AfbTR O8I T8l &

4. AGSl Tol s WP R Jol ©

Options :

68634074281. 1
68634074282. 2
68634074283. 3
68634074284. 4

Question Number : 72 Question Id : 68634018808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R

Assertion A: Vedas support ashram system of life

Reason R: Vedas also propound four Purusharthas

In the light of the above statements. Choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation ot A

2. Both A and R are true and R 1s NOT the correct explanation ot A

3. A 1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634074285. 1
68634074286. 2
68634074287. 3
68634074288. 4

Question Number : 72 Question Id : 68634018808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

EIE) a$?-l:fﬁq Tlt{% U AHHBYA (Assertion A) 7 {ﬁqﬁﬁ*]@ﬁ%?ﬁmGHE}? ®IRU] (Reason R) 67
U H.

AFUBYT A: A5 Siia- B YH USid B GHYT Fd o |

HROT R: dai - Hl IR g&ud wiqurfed fad g1

SWRIad DY & ATl H, 714 13U 7T f[abedi § I a8 Iugad IR D1 94 DIfoig:
1. A 3R R i 9ol & IR R. A DI Ugl ARAT§

2. A 3R R 31 U1 € 3R R. A BT Tel oURAT el &

3. AGel ¢ AfeT R IS 8T &

4. ARSI T8I g AP-TR Tl ©

Options :
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68634074285. 1
68634074286. 2
68634074287. 3
68634074288. 4

Question Number : 73 Question Id : 68634018809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which of the following books were authored by Dr. B. R. Ambedkar?

A. Annihilation of Caste

B. States and Minorities

C. Emancipation of the untouchable

D. Elementary aspects of Insurgency in colomal India

Choose the correct answer from the options given below:

L. B
2.A.D
3.A,C
4.B.D

Options :

68634074289. 1
68634074290. 2
68634074291. 3
68634074292. 4

Question Number : 73 Question Id : 68634018809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

FafdiRad 4 O o149 9 giad Sf. &l.3(R. siasar gRI ol 113 4

A. U5 3HH HRE

B. ¥y Us AZARCY

C. SHARIURH 3P g 3fcdac
D. TaiH-R] ey 3P g-Hoi-4l 5+ DIai-ad sisdl

+rd feu v fGeeal § © 981 3T &1 999 Sifee:

1. A.B.C

2.A.D

. G W @

4.B.D

{Intinng *
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68634074289. 1
68634074290. 2
68634074291. 3
68634074292. 4

Question Number : 74 Question Id : 68634018810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Arrange the following texts by the year of their writing

A. Principia Mathematic
B. Republic

C. Tractatus logico - Philosophicus
D. Nicomachean Ethics
E. The Social contract

Choose the correct answer from the options given below:
1.B-E-A-C-D
2.B-D-E-A-C
3.B-A-E-D-C

4 A-B-D-C-E

Options :

68634074293. 1
68634074294. 2
68634074295. 3
68634074296. 4

Question Number : 74 Question Id : 68634018810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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FFafaRad i &1 396 a@ a4 & HH § afyd Do

A. of=aftar ayafesr

B. Rufsdisp

C. ¢aerey dnvidl-hardib ey
D. HpHBTA Uiday

E. % QIYd Picde

+rd feu U Aol § © 981 SR &1 99 Bifeg:

LB . EACD
2.8.D.EA C
3. B, AE,D,C

4. A.B.D,C.E

Options :

68634074293. 1
68634074294. 2
68634074295. 3
68634074296. 4

Question Number : 75 Question Id : 68634018811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Arrange 1n historical cronological order

A. Descartes
B. Plato

C. Locke

D. Spinoza
E. Leibniz

Choose the correct answer from the options given below:

1.LA-B-C-D-E

2.D-A-E-C-B
3.B-A-D-C-E
4 B-E-A-D-C

Options :

68634074297. 1
68634074298. 2
68634074299. 3
68634074300. 4
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Question Number : 75 Question Id : 68634018811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
UfdgT® PIarhd H ogaiyd Difeiu:

A. SHIC
B. Ticl
C.didb

D. I
E. didg-o

+rd feu e fosedl § © U1 IR &1 999 Difeie:

1L.AB G, D E

DA EKCH

3.B,A.D.C,E

4.B,E.A,D,C

Options :

68634074297. 1
68634074298. 2
68634074299. 3
68634074300. 4

Question Number : 76 Question Id : 68634018812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronology

A. R. N. Tagore
B. M.K. Gandhi
C. Jyotiba Phule
D. Amartya Sen
E. B.R. Ambedkar

Choose the correct answer from the options given below:

1. A-C-D-B-E

L4

2.A-B-C-D-]

3.C-A-B-E-D
4 E-D-A-B-C

Options :

68634074301. 1
68634074302. 2
68634074303. 3
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68634074304. 4

Question Number : 76 Question Id : 68634018812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fafefad &1 HrasHaR caafyd HifeIU:

A. 3R, TF. TR

B. TH. &, TI1et

C. Hifde1 Bd

D. 3HA I9

E. dl. 3R, 3idSH

g feu U o el § © Og1 ST &1 999 Bifee:

LAC D BB
o8B DiE
G AEE D

4. E5.D.A,B,C

Options :

68634074301. 1
68634074302. 2
68634074303. 3
68634074304. 4

Question Number : 77 Question Id : 68634018813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true with regards to early Wittgenstein?

A. The meaning of a word is the object for which it stands
B. Words are basically names

C. The world 1s made up of objects. and the relation between objects form facts
D. Facts are independent of language

Choose the correct answer from the options given below:
1.A.B & C only
2. A& Conly

3.A.C & D only

4.A.B.C &D

Options :
68634074305. 1
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68634074306. 2
68634074307. 3
68634074308. 4

Question Number : 77 Question Id : 68634018813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

fgeTerz & URIYS o1 & He d Fafafed 4 9 o5 3 Hy= 981 8°

A. Tl 2reg &1 312 39 7% 4 © ol SHDT M gieT 8|

B. Xsg Hald: A BId 8 |

C. Yeg G ¥ §9 814 5. AR axg3fi & A Y&y a2 B g1 DR ¢ |
D. A YN 4 WA eld ¢ |

=g feu v famedl © © 981 TR &1 991 Bifeie:

1. BT A. B AR C

2. FaAdA MR C
3. PdAA.CIRD

4. PAAA.B.C IR D

Options :

68634074305. 1
68634074306. 2
68634074307. 3
68634074308. 4

Question Number : 78 Question Id : 68634018814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in chronology

A. Cartesianism

B. Post modernism

C. Zeno paradox

D. Utilitarianism

E. Skepticism (Hume)

Choose the correct answer from the options given below:
1.C-A-E-D-B
2.A-C-D-B-E
3.JE-A-C-D-B

4. C-A-D-B-E
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Options :

686340743009. 1
68634074310. 2
68634074311. 3
68634074312. 4

Question Number : 78 Question Id : 68634018814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

FafifRad &1 AR uafyd Hifo:

A. SHIAAIG

B. 3R AYHbdarg
C. Ol faUTHY

D. IYgINIdIag

E. 9¥dlq

a9 feu v foeeal § © 98 IR &1 999 DifeT:

1. CAE, DB
&80 1 BE
3.B.AC, D, B

4.C,A.D.B.E

Options :

68634074309. 1
68634074310. 2
68634074311. 3
68634074312. 4

Question Number : 79 Question Id : 68634018815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-

T —

collegedunia:

India’s largest Student Review Platform



Arrange the following in the order according to Aristotle's theory of causality

A. Final cause

B. Material cause
C. Efficient cause
D. Formal cause

Choose the correct answer from the options given below:
1.B-C-D-A
2.C-B-A-D
3.B-D-C-A
4 D-C-B-A

Options :

68634074313. 1
68634074314. 2
68634074315. 3
68634074316. 4

Question Number : 79 Question Id : 68634018815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

3R b DGR gid & HTIR Fafafad &1 o § sgafyd Sifo.

A. 3i~0H BRI
B. G¥IRD PRI
c. A R
D. HIHIRD HRUI

+rd feu v foeeal © ° 91 IO &1 999 Hifeie:

1.B.C.D.A
% C.BAD
3.B.D.C.A

4.D.C.B.A

Options :

68634074313. 1
68634074314. 2
68634074315. 3
68634074316. 4

Question Number : 80 Question Id : 68634018816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement [: According to Nyaya school. knowledge 1s produced 1n the soul when 1t comes directly into
contact with the five external sense organs.

Statement II: According to Nyaya school. knowledge 1s an adventitious property of the soul.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074317. 1
68634074318. 2
68634074319. 3
68634074320. 4

Question Number : 80 Question Id : 68634018816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

®Y I: Td Hd & IR JH 56 U gl IH-d] & Y& U J 11 8. ol g8 A H I sldl o |

HY I1: T Hd & TR FH AT B NS HUal 5|
JWRIdd HYH & 3D H. HId [QU U [dhedi | I ol 31U B 99+ DHIVIU:
1. DY RIS I &

2. PYFI AR I ST A
3. BYT [ A 8. Al HUT 11 3T ©
4. PYTI I 8. AfPT YT I Id ©

Options :
68634074317. 1
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68634074318. 2
68634074319. 3
68634074320. 4

Question Number : 81 Question Id : 68634018817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: For Plato the meaning of the word 'Justice' is basically a conception in the mind only.
Statement II: For Plato the meaning of the word 'Justice' 1s fixed. mind-independently

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement Il are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074321. 1
68634074322. 2
68634074323. 3
68634074324. 4

Question Number : 81 Question Id : 68634018817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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4 gl Y T MU B:
HY I: Wl & [T <1 Ysg BT HRE Gdd: dad J-9 5 Uh FI&U g |
HY I1: Tl P [0 =0 Tsg B 1Y T4 § Wad U J FfEd siarg |
SWRIad HYH & ATl H, 71 14U T f[abedi H I el IR BT 999 DI
1. HYF1 AR 11 51 I §
2. Y1 AR EHI 3T 8

3. PYT 1 9 B, Afh HYT 11 A B

4. BYF 1 AT 8. AP PYT 1 T B

Options :

68634074321. 1
68634074322. 2
68634074323. 3

68634074324. 4

Question Number : 82 Question Id : 68634018818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Na1 Taleem 1s advocated by Radhakrishnan

Statement II: Nai Taleem advocates the education of mind. body and spurit.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement Il are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074325. 1
68634074326. 2
68634074327. 3
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68634074328. 4

Question Number : 82 Question Id : 68634018818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Hﬁﬁﬁﬂﬁﬁﬂﬂ%
HYF I: AUHUH R A3 araid &1 gHU- fdbar mar g

HYA I1: 715 dTad T, IRR TG AT PRI BT UeeR |
SWRIdd HYH & Al H. Hid ST U f[dbedi § I Yol IR BI I9U- DIl
1. DY IR I S I &

2. BYF1 IR 11 SFT 3 ©

3. HYT 1 Jd 8. Afhd YT II A ©

4. DY I . Alb- PYT I TT B

Options :

68634074325. 1
68634074326. 2
68634074327. 3
68634074328. 4

Question Number : 83 Question Id : 68634018819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement [: Knowledge 1s justified true belief

Statement II: Knowledge 1s virtue

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement Il are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074329. 1
68634074330. 2
68634074331. 3
68634074332. 4

Question Number : 83 Question Id : 68634018819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYF I: I I= (YN (YRUM) & FHOd Bl o |

Y I1: F1H TS0 B |
IRIGd HYF D AP H. Aid QU 70 f[dHedi d T ol I B1 994 DIfoIU:

. PYTI ARSI 9T &
2. BYF 1 AR 11 SHT 3 &

3. PYTI G &, dfb-T YT I A &

4. PYT I AT 6. AfpT YT I I ©

Options :

68634074329. 1
68634074330. 2
68634074331. 3
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68634074332. 4

Question Number : 84 Question Id : 68634018820 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Locke maintains that mind 1s a tabula rasa

Statement II: Locke 1s a rationalist philosopher

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement Il are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement I 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074333. 1
68634074334. 2
68634074335. 3
68634074336. 4

Question Number : 84 Question Id : 68634018820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 g Y T MU

HY I: Tl B A1 § [ T4 U DRI Ufe P g

HYF II: TID glaaral aRi-d g

SWIFd HYF & 3Tald H, Fid 14T Y f[dhedl H I el IR &I 94 DIOIT:
1. HYU I AR 11 GH1 T §
2. Y 1 AR 11 FT 3 §

3. PYT 1 9 B, Afh HYT 11 A B

4. BYTI I 8. AfpT YT 1 T B

Options :

68634074333. 1
68634074334. 2
68634074335. 3
68634074336. 4

Question Number : 85 Question Id : 68634018821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: According to Nyaya philosophy verbal testimony (sabda) 1s of two types: Vaidika and Laukika

Statement II: The power of the word to convey its meaning comes from long established convention according
to ancient Nyaya and from God. according to Navya-Nyaya (later Nyaya)

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074337. 1
68634074338. 2
68634074339. 3
68634074340. 4

Question Number : 85 Question Id : 68634018821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrone Marks : 1
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HYF I: UG 3 & IR sg YHIU (Te3), Afdh 3R Alfibe & YPR & id |

YT IL: UHH-TI S Hd D D AR B Add DA DI e Uldd dd IHY J RIMYd gRUICH
(E¢1) T qYI 964010 & 3R 3% T 31l 8

IWRIdd HYH & AP H, HId QU U fdhedl H I ol IR &1 99+ DHIIU:
1. BY 1 AR 11 aHI 9
2. HYF1 3R 11 SHT 3 ©

3. (Y19 e, AP PYT I 3T B

4. YT I B, b PYTII I ©

Options :

68634074337. 1
68634074338. 2
68634074339. 3
68634074340. 4

Question Number : 86 Question Id : 68634018822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Feminism stands for the concern with the status and role of women in society in relation to men.
Statement II: Feminism implies the advocacy of equal rights for women and men

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true

Options :

68634074341. 1
68634074342. 2
68634074343. 3
68634074344. 4

Question Number : 86 Question Id : 68634018822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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4 g1 Y G MU B
HY I: TRIAIG D1 AU GO § G&H DI qa-1 § Afgansii @1 fufd ud yffe 9 96fia gl
HY I1: FRIarg] Rigid d afgdrsi td &yl & fou 39 HiUaRI ot ugeral Afed g
SWRIGd HYH & Al H, Fid S0 70 f[dbedi § I Yol IR BI 94 DIl

1. HYU R 11 GHI 9 §

) FYTI R EH A8

3. PYT 1 9 B, AfhT YT 11 A B

4. BY I 3. Wb PYF I I B

Options :

68634074341. 1
68634074342. 2
68634074343. 3
68634074344. 4

Question Number : 87 Question Id : 68634018823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which among the following is written by Amartya Sen
A. Wings on fire
B. Swaraj
C. Argumentative India

D. Indian Ideology
E. India Wins Freedom

Choose the correct answer from the options given below:

1. C only
2. E only
3. D only

4. A only

Options :

68634074345. 1
68634074346. 2
68634074347. 3
68634074348. 4

Question Number : 87 Question Id : 68634018823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
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Correct Marks : 4 Wrong Marks : 1

Fafefad @ 9 oF 9 g5 omd 99 gR1 ferdl 715 8°
A. 97 39 BRR
B. WX
D. Sisg- isiegaidiail
E. sisdl f[d-g wisH
+ra feu v fosedl § O TR 1 904 Sifeie:

1. Hdd C

2. Had |

LL1]

3. Hdd D

4. Hdd A

Options :

68634074345. 1
68634074346. 2
68634074347. 3
68634074348. 4

Question Number : 88 Question Id : 68634018824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is closer to Kantian Deontology

A. Duty for Nation

B. Duty for Society

C. Duty for Duty sake
D. Duty for Organisation
E. Duty for Good

Choose the correct answer from the options given below:
1. C only
2. Aonly
3. E only

4. B only

Options :

68634074349. 1
68634074350. 2
68634074351. 3
68634074352. 4
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Question Number : 88 Question Id : 68634018824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

fFgfaRad 5 3 F Fic & PAORd P AP 82

A. ¥ & Yfd Hlod UTer

B. 19 & Wfd dciod grei-

C. Paed (Adeg Bt U1 I Hedod U
D. 113 & Ufd Hclod UraA

E. Y & Y dod UreiA

+rd feu U foeeal § © 981 3TR &1 999 Bifeg:

1. Hdd C

2. Had A
3.9dd |

(1]

4. 9dcl B

Options :

68634074349. 1
68634074350. 2
68634074351. 3
68634074352. 4

Question Number : 89 Question Id : 68634018825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following 1s not the Noble Truth (Arya Satya) according to Buddhism

A. There 1s suffering

here 1s a transcendental cause of suftering

here 15 cessation of suffering

here 1s a way leading to this cessation of suffering
here 1s a cause of suffering

5.1
i |
D.T
5 05
Choose the correct answer from the options given below:
1. C only
2. B only

3. Aonly

4. D only

Options :
68634074353. 1

collegedunia:
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68634074354. 2
68634074355. 3
68634074356. 4

Question Number : 89 Question Id : 68634018825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl Od & 9R FHeferad 3 9 o 9 &1F 91981 82

A.GER

B. 3:@ B SfadIdid DRI 8
C.3EHI3Ad 3

D. §:9 & 39 3id &1 Ud Al §
E. 39 &1 R0 ¢

42 feu v Gl ° © 98 3T &1 999 Sifee:

1. Had C

2. Hdd B

3. Pdd A

4. Hdd D

Options :

68634074353. 1
68634074354. 2
68634074355. 3
68634074356. 4

Question Number : 90 Question Id : 68634018826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Which of the following theme is not associated with applied ethics

A. Capital punishment
B. Surrogacy

C. Psychology

D. Euthanasia

E. Capital Punishment

Choose the correct answer from the options given below:

1. Aonly
2. D only
3. B only
4. C only

Options :

68634074357. 1
68634074358. 2
68634074359. 3
68634074360. 4

Question Number : 90 Question Id : 68634018826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

frafafad & 3 o= a1 fovg aasiRe Ao d dd9< 7ol 82
A. 7SS
B. IRITI1
C. gAIfag=
D. 3O
g feu U fosegl § ¥ U2 TR &1 999 Bifee:

1. Padd A
2. Hdd D
3. Hdd B

4. HadAC

Options :

68634074357. 1
68634074358. 2
68634074359. 3
68634074360. 4
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Question Number : 91 Question Id : 68634018827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not Purushartha

A. Moksha
B. Kama
C. Yajna
D. Artha
E. Dharma

Choose the correct answer from the options given below:

1. Aonly
2. B only
3. C only
4. D only

Options :

68634074361. 1
68634074362. 2
68634074363. 3
68634074364. 4

Question Number : 91 Question Id : 68634018827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad 3§ 9 oF o1 g 81 72

A T
B. ®1H
C. U3
D. 3
E. 4

=g feu U fadedl H O I STR &1 99 DiTeig:

1. Hdd A

2. Hdd B

3. Hdd C

4. PHAAD

Options :
68634074361. 1
68634074362. 2
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68634074363. 3
68634074364. 4

Question Number : 92 Question Id : 68634018828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not associated with modern philosophy

A. Francis Bacon
B. Franciscan Schoolmen

C. Leibniz
D. Descartes
E. Neitzsche

Choose the correct answer from the options given below:
1. B only
2. Aonly
3. E only
4.C & D only

Options :

68634074365. 1
68634074366. 2
68634074367. 3
68634074368. 4

Question Number : 92 Question Id : 68634018828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Frafaf@d 0 9 o1 sy IR 9 Ja< 81 87

A. Il 96

B. Wi T
C. g

D. SPIc

E. ARl

+rd feu U foseal § O I STR &1 999 Diteie:

1. $dd B

2. Hdd A

3. Hdd

(1]

4. PadC AR D
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Options :

68634074365. 1
68634074366. 2
68634074367. 3
68634074368. 4

Question Number : 93 Question Id : 68634018829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which of the following is not associated with Pre Socratic

A. Heraclitus
B. Parmenides
C. Anstotle
D. Pythagoras
E. Protagoras

Choose the correct answer from the options given below:
1.D & E only
2. C only
3. B only

4. A& B only

Options :

68634074369. 1
68634074370. 2
68634074371. 3
68634074372. 4

Question Number : 93 Question Id : 68634018829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Fafefad 3 9 ®F yd-garday 3 96 ol 82

A. Blfgdcy
B. UH S

C. 3RE] |
D. GISUNTRY
E. UleTRY

42 feu v foeedl © O O IR &1 999 Sifeie:

1. Had D AR
2.Had C

L1]

3. Hdd B

4. Hdd A IR B

Options :

68634074369. 1
68634074370. 2
68634074371. 3
68634074372. 4

Question Number : 94 Question Id : 68634018830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

LISTI LISTII

Moods and Figure Latin Name

EAE-I
. JAIIL-I
EIO-I

®

I

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

2. A-II. B-III. C-IV. D-I

3. A-1II. B-IV. C-1. D-II

4. A-II. B-IV. C-1. D-III

Options :

68634074373. 1
68634074374. 2
68634074375. 3
68634074376. 4

Question Number : 94 Question Id : 68634018830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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fFgfeiRad fadedi H 9 el Itk &1 99 Difolu -

1. A-I. B-1I. C-III. D-IV

2. A-IL. B-III, C-IV. D-I

3. A-III. B-IV. C-I. D-II

4. A-II. B-IV. C-1. D-III

Options :

68634074373. 1
68634074374. 2
68634074375. 3
68634074376. 4

Question Number : 95 Question Id : 68634018831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-

T —

collegedunia:

India’s largest Student Review Platform



Match List I with List II

LIST I LIST 11
A Jidealism | I [Descartes
E-

 C [Empircism T Plato
| D. Materialism | IV. fLocke

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III
2. A-II. B-III, C-IV. D-I
3. A-IIL. B-1. C-IV. D-II
4. A-IV, B-II, C-III. D-I

Options :

68634074377. 1
68634074378. 2
68634074379. 3
68634074380. 4

Question Number : 95 Question Id : 68634018831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

ﬂ;ﬂlcbnitﬁuéﬁaﬁﬁﬁm

FafciRad fddbedi | I ol IR B I Dol -

1. A-I. B-IV. C-II. D-III
2. A-IL. B-IIL. C-IV. D-I
3. A-III. B-1. C-IV. D-II
4. A-IV, B-II. C-III. D-I

Options :

68634074377. 1

68634074378, 2

68634074379. 3
68634074380. 4
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Question Number : 96 Question Id : 68634018832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LISTI LISTII
A Jainism 1. |Padartha

Buddhism II. |Svadvada

. |Samkhya [II. [Pratitvasamutpada
aishesika IV. JPurusa and Prakrti

Choose the correct answer from the options given below:

1. A-II. B-III, C-IV, D-I

2. A-I1. B-1I. C-III. D-IV

3. A-IV. B-IIl. C-II. D-I

4. A-III. B-IV. C-1. D-II

Options :

68634074381. 1
68634074382. 2
68634074383. 3
68634074384. 4

Question Number : 96 Question Id : 68634018832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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FFafafad fdeeal & O 981 3O &1 99 Difold -

1. A-II. B-III. C-IV. D-I

2. A-1. B-1I, C-III. D-IV

3. A-IV, B-III. C-II. D-I

4. A-IIL. B-IV. C-1. D-II

Options :

68634074381. 1
68634074382. 2
68634074383. 3
68634074384. 4

Question Number : 97 Question Id : 68634018833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A Majorterm | I |The predicate term of conclusion
ﬂ- The subject term of conclusion

- The premise containing the major term
| D. [Middle term " [The term that appears to both premises but not in conclusio

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

2. A-IL. B-III, C-IV. D-I

3. A-IIL. B-IV. C-I, D-II

4. A-IV. B-II. C-III. D-I

Options :

-
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68634074385. 1
68634074386. 2
68634074387. 3
68634074388. 4

Question Number : 97 Question Id : 68634018833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

gt 1 1 gl 11 8 [HaH i

TR I i S
AfET |1 Podshm
BN il I e ek

-m

fFafafad fasedl & O 98t 3R &1 994 Difor -
1. A-I B-IL C-IIL. D-IV
2. A-IL B-IIL. C-IV, D-I
3. A-IIL. B-IV. C-I. D-II
4. A-IV, B-IL. C-III. D-I

Options :

68634074385. 1
68634074386. 2
68634074387. 3
68634074388. 4

Question Number : 98 Question Id : 68634018834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

LISTI LISTII

A |Vaisesika I. |Brhaspati
Charvaka [. [Kanada

. [Nvava

‘edanta IV, |Gotama

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV. D-III

2. A-1. B-II. C-III. D-IV

3. A-IV. B-III. C-1. D-II

4. A-IIL. B-1. C-IV, D-II

Options :

68634074389. 1
68634074390. 2
68634074391. 3
68634074392. 4

Question Number : 98 Question Id : 68634018834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-1. C-IV. D-III

2. A-1. B-1I. C-I1I. D-IV

3. A-IV, B-III. C-1. D-II

4. A-IIL. B-1. C-IV, D-II

Options :

68634074389. 1
68634074390. 2
68634074391. 3
68634074392. 4

Question Number : 99 Question Id : 68634018835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

LISTI LIST II
iketion uf Castes
| B. |B.R. Ambedkar

he story of my experiments with the tru
| D. JAbdul Kalam Azad

Choose the correct answer tfrom the options given below:

1. A-II. B-1. C-IV. D-III
2. A-I. B-1Il. C-II. D-IV
3. A-IIL. B-1. C-II. D-IV
4. A-IV., B-III. C-II. D-I

Options :

68634074393. 1
68634074394. 2
68634074395. 3
68634074396. 4

Question Number : 99 Question Id : 68634018835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

g 1 1 gt 11 9§ A Do

_-a_
--
B [fom s |1 [ewadomgem

-EE_
| D._| eqq P SMSfrg] IV ST wred

FafeiRad fddbedi | I ol IR BI I Dol

1. A-II. B-1. C-IV. D-III

2. A-1. B-1II. C-II. D-IV
3. A-I1I. B-1. C-II. D-IV
4. A-IV. B-III. C-II. D-I

Options :

68634074393. 1
68634074394. 2
68634074395. 3
68634074396. 4
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Question Number : 100 Question Id : 68634018836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

B [Descartes | Il [Das Capital |
| C Marx [T [Tractatus Politicus
D.[Spinoza IV [Leviathan |

Choose the correct answer from the options given below:

1. A-I. B-IV. C-III. D-II
2. A-IV. B-1, C-II. D-III
3. A-IIL. B-IV. C-II. D-I
4. A-II. B-1. C-IV. D-III

Options :

68634074397. 1
68634074398. 2
68634074399. 3
68634074400. 4

Question Number : 100 Question Id : 68634018836 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 g 11 9 A i

e [ a@m
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N e I i E

FafdRad Ao gl d I Yol 3R &1 99+ DIl -

1. A-I. B-IV. C-III. D-II

2. A-IV., B-1. C-II. D-III
3. A-III. B-IV. C-II. D-I
4. A-II. B-1. C-IV., D-III
Options :
68634074397. 1

68634074398. 2
68634074399. 3
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68634074400. 4
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